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PARTA /

GENERAL ABILITY TEST ‘Q

3

Max Merks

Y

any straight lines can be drawn through 10 pomls a circle ? -~ 4{""
A) 10 ® 20 infinite
@ 2 World Telecommunications and Information Society Dlr IS Drated every yearon .
/‘ (A) 15th March B) 17thApril o ! 21st July
Under Akbar, the Mir Bakshi was required to look nl'ler
<Y W) miary attairs (B) the state treasury 22 21 23
V?,, the royal household pr-[rrmmﬂ
k at this series 22 21, 23,22, 24, 23, . ... What number should come nexi ?
A 22 C) 24
\5_)‘.1 largest glaciers are
mountain glaciers e giaaem
conlinental glaciers 4
Vﬁ; is the father of Geometry 7
(A) Kepler = (8) Euchd X XS Pythagorus @O Aristotle X /
«L~Satellite launching station is located at E
M~ Sriharikotta (Andhra Pradesh) (B) Rameswaram (Kerala)
Salemn (Tarmiinadu) D) -Warangal (Andhra Pradesh) v
ndow is 10 as book is to
YA novel cover C) page
\}H&E are sbme wordsTransiated from an artificial language )
gorbifiur means (an bell y
‘%M means ¢eling fan i
htus! means tile roof
which word could mean c.emng t:le ?
{A) gorbltusl (‘B} ﬂuruort:l (C) anhflur

Mere is the permanent sEt:relariat of the SAARC 7 T
/""' (A) Kathmandu (B)x New Delhi [CK Islamabad

{__,Aﬁ'ebra and Algonthm are associated with

Lg)luhammad al Khwarzimi (B) IbnBatuta
bhatta —3 0 ) (D) Ptolemy
12~ Nobel prize founder is associated with the
) discovery of lawof gravity (B) inventor of the fluorescent tube e

(C) discovery of the planetary motion ©) inventor of dynamite
Dg’-nemet owes its inception fo the project : @
~ (A) Crossnet B)Ahpanet (C) Skynet () Bookemet
14/ Which word is not synonymous with alter ego
(A) Eoppelganger (8) Poltergeist (C) Spectre @) Infenor
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©
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Mch of the following is NOT associated with the DNA

(A) Adenine (B) Thymine Minine (D) Guanine
-The creator of ‘'Sherlock Holmes’ was

%} Arthur Conan Doyle (B) lanFleming
(C) Dr. Watson (D) Shakespeare

17. The name Kunjarani Devi is associated with ............ . &
(A) Wrestl‘ing x (B) {C}XSmmmmg - Ath'leu:s\

~ The F'_I'i.‘i_E 100 index is used to measure stock markel performance in which country ? "YK

@/ France (B) United Kingdom (C) Gemmnany V(D) Finland «——
i — e
1 at is the term that defines the maximum mass of a white dwarf star, approximately equal 1o 1.38 solar

masses ?

(A) Redshift (B). _Roche's limit Tk '
Mhandrasekharlimit ©)  Hubble's limit S I3

’{ Machu Picchu is located in which country ?
(A) Argentina (B) Ecuador (C) Columbia L}V’ Peru

Y
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BASIC ENGINEERING WS ~
T'g; Max Marks 90

1 ine Vot when R, is 180 () and X is 80 () -
g s
g
o 7{; !'f:"n B | a0 %30
W

%}ﬁé AV 454340
4 1T i

(A) 135.,634°V B) 135,634V @/12_2‘,&*\; o 1220V
— -— — i
\_}/f Kelvin double bridge is best suited for the mea¥urement of

(A) inductance (B) capacitance low resistance. . [©) | high resislance
single phase diode bndge rectifier supplies a highly inductive load. The load current can be assumed lo
ripple free. The ac supply side current waveform will be R
L. [
(A) sinusoidal L@/mnstam dc (C) square ©) Inangular \)3 &%1
A moving coil galvanometer is made into a dc ammeler by connecting
) alow resistance across the meler # (B) a high resistance in sernes wilh the meler
{C) apureinductance across the meter (D) acapacitor in series with the meter
L/S_/Easically, inter-atomic forces are -
(A) electrostatic in nature {87 gravitational in nature
({C) magnetic forces (D) short-range forces
(S~ What is the degree of polynomial P defined by : P(x) = - 5(x - 2) (x’ + 5) + x* ?
W 2 ® 3 © 4 o -
-0
J/m siope of the line that passes through the points (- 1, 0) and (3, 8) is %_____T__
A) 15 Br 2 € 25 o 3 oF
/ﬂhich of these equations does not have a solution ?
(A) sin(100x)=01 (B) tan()=1000 (Y 2sin(x)=-3 (@) cos‘x-14=0
9. ress i/(1 —i) in the form of a complex number a + bi, (where a and b are real numbers) .
©
A) 172 +ir2 B -2+ ©) 112-i2 © 1-1 v (1
PR ‘
wpﬁcatiun of the binary numbers 111 and 11 yields -t I

10010 B 10101 © 11011 © 1M .
\)xg:utsnlIhealgebraicequationx‘+ X +x+1=0are l,.:--- i
%, W @Lri-) B ¢L-1+) © .00 O ey

\ \ |
/n Wedo 1 x \h ;,n-\ q,_l_u._ %_\qu
BALS. y VAR
RS
\y = Scannggﬂgy’éamScanner
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. Rore X

"‘y/n-“ oUlput Y of the logic circuil given below .

X Y

® o © X o X :

yﬂms the chance that a leap year, selected at random, will contain 53 S‘gﬂﬂ)«"
w57 ® 17 © 21 .
38 Which of the following statements does NOT describe an advantage of digital technology

(&) The values may vary over a continuous range. 346 Harew

(B) The circuits are less affected by noise. ¥ - o

(C)  The operation can be programmed. 2

©) Information storage is easy v

A flip flop has -

(A) one stable state (B) no stable state @./Iwo stable states (D) none of these
" A multiplexer has

(A)  one input and several oulputs (B) one input and one outpul

(©) severalinputs and several outputs D) several inputs and one output

17/7A senial in/parallel out, 4-bit shift register initially contains all 1s. The data nibble 0111 is waiting to enter
After four clock pulses. the regisier contains -

= 0000 ® 11 dp)/n;n © 1000
: 8-bit serial in/serial out shift register is used with a clock frequency of 2 MHz to achieve a time delay [!ﬂ)
Tk = 224 5.0,

; 16ps B) 2us (C) 8us @/i/us J"“'ig“é
M he storage element for a static RAM is the ’LE_
(8Y"lip flop ®) resistor (€) capacitor ©) diode L~ =
Which is nol a hard disk peformance parameter ? 0> )UU
) Seektime (B) Break time (C) Latency time (D) Access time
- L1is known as -
primary cache (B) secondary cache (C) SRAM (D) DRAM P:%’Kl 1:,'6
« 22~ Ferrite cores are used as they help in :
(A)~Teducing the eddy currents (B) reducing the magnetic permeability
) increasing the electrical conductivity (D) being more brittle
. How many pins does the 4049 IC have ?

b 14 ®B) 18 C} 18 ® 20
w1 operates froma :
(A) S-voit supply (B) 3-volt supply (C)  12-volt supply Mvnn supply

\_}/ﬂ a 3-input AND gate has eight input possibilities, how many of those possibilities will result in a HIGH
0

utput ? &0

i M O 8 ‘:i

A) 2 B) \
1 —— :
LM amen g
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35.
./:Fh cC C TtLK 7}*",_5__-

7

#"A CMOS IC operaling from a 3-voR supply will consume -

less powerthana TTLIC more power |
“o'/thaume powerasa TTLIC g mm.ll.l;m-mﬂ
_}y%'nl does the small bubble on the output of the NAND gate logic symbol mean 7
open collector output (B) ({nstate
he outpul isinverted ©) none of these

A Schmitt trigger has V. + = 2.0V and V_ — = 1.2 V. What is the hysieresis voltage of the Schmitt ingger ?

@}, 0.4 volts ®) 06 vohs (O Bavors © 1.2vols

identify the passive element in the following -

(A) Voltage source Wnr C) Tmansislor (@) Cumren source 1
_ tmmmmemmymﬂauvmmum?
(A) -14VDC + 14V DC {C) Reguiated 14VAC ) -8VDC
31. In IC technology, dry oxidation (using dry oxygen) as compared to wet oxidation(using steam or water
vapour) produces : P 6
(A) inferior quality oxide with a higher growth rate. . ¢
(B) superior quality oxide with a higher growth rate. Fd 2 a-s Xl
(C) superior quality oxide with a lower growth rate.
(@) inferior qualily oxide with a lower growth rale. dyd T
A parity bit is : 3
o ' 18 A2
(A) usedtoindicate the uppercase lettersd, )  usedto detect errors .
(C) s the first bit in the byte ¥ (D) S the last bil in the byte |- 3,1.\)25-*
many 3-lipe-to-8-line decoders are required for a 1-0f-32 decoder ? -%'"
“~
P 1 @ ® 2 T n a8 3Ty
"How many data select lines are required for selecting ewght inpuls ? :;l__v- 5
@ 1 ® 2 e © 4 Y e |
8 —

e simplest equation which implements the K-map shown below 1s

b‘,"tx/&‘ ~ {.L E- E 9 q"\\ t OIJI
Te o-j}b/ A_B /1’ /i\ 6+ vk 4 s

& "3 A BAT D kpa = OrSwWIl
25 A B[O [\2 —80

/B

ot
e

A X=AC+B ® X=AB 6@

(C) ABC + ABC + ABC D AB+AB
ich of the following logic expressions represents the logic diagram shown ?

As A+ AL A-——D-E ﬂ;‘ﬂg“ _f—ﬂ"‘_‘fp.tb
=Y > x = zgah®
; - RS> B
(A) K=AE+;B (B}K/AA_B*;}E € X =AB +AB (D) X'—'ﬁBftEj
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-/’F‘ uludf

-~ biased and CoNnducyg
or n a cenlre-ltapped full-wave rechifier 15
————————_ ol the input cycle

- .m'
Wl‘nnuaru_m' B) reverse 180° © f .10 o
ypw 'S which of the following ?

(A) " peak input von age Mﬂh inverse voltage
(€), veak immediate voliage @) positive input voltage
38 e,

1ermine the peak value of the output wavelorm

Vasv Ve ~VF
.—1:‘ ” ' e VD#I

|
?ﬂU‘ N -
By ™ Sew L207%

= o L
(A) 25V L@'/"W ©) - 25V O -15V
ylElEC!FIC matenals are prnmanly used for
(A} charge storage Mnmlallnn
(C) reducing dielectric loss (D) goodtonductivily
:_1/Whal 'S the peak inverse voltage across each diode in a voltage doubler ?
A vV B) 2v_ ) D5V ©) 025V

42 _Mow many layers of matenal does a transistor have ?

A) 1 B) 2 o3 O 4

WEHTNHE the value of .« when |1 = 100

\vv
A) 101 ® 101 ‘l?ﬂ'
(C) A99 (D) Cannot be solved with the information provided
AnFETisa [ _ controlied device
(A) Current yﬁuﬂagev (C) Inductance (D) Charge coupled
Mhat 1s the typical value for the input impedance Z for JFETs 2
A) 100kg) B) 1M JC-TOM) D) 1000My¢)

- Inla MOSFET operaling in the saluration region, the channel length modulation effect causes

an increase in the gate-source capacitance [ Dﬁ'ﬁ:} “:;E

(B) adecrease in the lransconduclance %
(C) adecrease in the unity-gain cutoff frequency

(D) adecrease in the oulput resistance

lw'inlernal circuitry of the 555 timer consists of -anR-Sflip-flop, a transistor switch. an outpul
! .~ ~ buffer amplifier, and a voltage divider

(AL acomparalor (B) avoltage amplifier (C) ~fwo comparators (D) apeak detector
Mﬁﬂal demonsirates the

effect when a mechanical force across the crystal causes a small
vollage to be generated

8cHrified by\@afSeemner

(A) photoelecinc (B) Co-pitts



QAII is another name for a bisypble multivibrator 7
Oscilalor Fiip Nop (C) anon-offswich (D) None of Ihese
* Why must CMOS devices be handied with care ?

(A) sothey don't get dirty
8) ause they break easily
ause they can be damaged by static electncily discharge
because they can give minor shocks

537 The high inpul impedance of MOSFETs

(A) allows fasler swilching qnj/r;du ces inpul current and power dissipation
(C) prevents dense packing D) creates low-noise reactions
\_3;0 The unit of energy 1s
(A)  Watt (B) Newlon m/ﬁowau hour D) Pascal
-MOSFETs are generally used in switching applications because
L@/ of their very low input capacilance (B) of their threshold charactenstic (V.. )} X
A (C) of thew high-frequency response capabilities (D) ~ of their power handiing e
\}/Refer to the given figure This circuit 1S known as
R T Tctr JE
T, = 1o
Vi _IL ¢ &E
] . (L G CJ
*0.0 uF B cdvi > 0-Vo
T R
- - R C d VL - -.-VG
) K¢
(A) anoninverting amplifier L)ﬂ/ﬁdl”t‘ﬂlnﬂﬂldr‘

(C) anintegrator () asumming amplihier

Ma{n] _when the input voltage exceeds a specified reference voltage, the output changes

state
differentiator (C)  summing amphhier Mtparatuf

(A) _integrator (B)
yglﬂ the given figure Determine the output voltage

MV B) -2V (C) +V_ 0o -V,
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0od example of hysteresis is a () Einii @) None of these
AM radio 8) Thermosist ) Aam
- Adifferentiator is used lo measure
@) the difference betwoen fwo voLA0ES
(A) the sum of the input vohages

CPAM rate of change of {he input voliage

1
(C) the area under a curve n the feedback loop?

" In a comparator with output bounding, what type of diode 1S used

() Schottky B Varacior L Zever By e
efer o the given figure The input impedance of this circun 1S
&’/5'0*9 ® 5k} € 10k @) 500k€2
. 10" power for S| units 1s prefixed as tera 10" power is prefixed as
J, ®) pela (C) yoha D) zetta
ME mole of any substance contains .. . number of constituent particles
ﬂﬂ}/-E.IDZZ A0 B) 6022x10" (C) 1602x10" ©) 1602x10"

_y/ﬂe Sl unit of the magnetic field intensity is
(A) Weber gﬁ (B) Yhmry g/ﬂ'sla {D])%arad

imensions of power as expressed in Mass (M), Length (L) and Time (T) are expressed as
) ML | mLT ‘ p; ML /T ©) MLT*

- Find the Thevenin equivalent (V, and R, ) between terminals A and B of the circuit given below

133
e

A 416V,120 Q M.wmnn € 416V, 70Q (@) 4167V 700

SC%T”:;% b\\’/ZbamPSe}\c@n ner



o MMt
b R

11
9/:: 8 given wirewound core, an increase in current through the coil e
reverses the
.,ﬂ(i " :lm B) decreases the flux density &TJJJ?
ncreases the
ux density ©) causes no change in flux density
87_fie unit for reluctance is - "
(A) Tesia s =N
- Ampere-Tums/Weber S
S pere-tums/Metre @) Weber/metre
v, GBN cond i -
Uiy uct current in either direction and is turned on when a breakover vollage ;s
SCR
- B) scs (CL” Tnac @) Diac
A% .. ... . amplifiers are ; ion i
oulput that is a replica of the inputnm."r e Bt Con{INBOR I GRS lodhon i

w 3 @A © ¢ © AB

70. If the steel disk in a cranksh
k"ﬁ o, aft position sensor has stopped with the tab in'the magnet's air gap, the

(A) increases (B) decreases (C) iszero D) will remain constant
7. i
&/4"'“ an oscilloscope across R, and it shows a zero signal voltage The problem might be tha
V.
¢ = 426V
¢ .
¢ G, (I 3 |ﬂl..
"
D
okt G
% » # 'a
1-.
z ‘Aﬁ Ru
L WP

< o TP
,€ -l 2
o W %::’m
7
£ {
<+
) C,isopen ﬁbEt is open {CﬁQ\BE? IS ODET. @) R, is open K

- Filterswiththe ... ... . charactenstic are useful when a rapid roll-off is required because it provides
roll-off rate greater than —20/dB/decade/pole

" L
\JJ/C’:mnM (B) Chebyshev (C) Bessel © [N
- In res RLC circuit that is operating above the resonant frequency, the current

(A) lagsthe applied voltage (B) leads the applied voltage
Min phase with Lhe applied voltage D) iszero
w value of C in a series RLC circuit 1s decreased, the resonant frequency
(A) isnot affecled U@/jncreases (C) isreducedlozero (D) decreases

‘1\ Sﬁ:faﬁa}éw ﬁ/tﬁamScanner



A) -2008

® —40ds ©) -2d8 M"B
m g

\../'mh! Current through R, in the given circuit

) A16A ®) 0244 © 02A @) 004A

Ao ... hner passes all Irequencies within a band between a lower and an upper cntical lfequenc»,
and rejects all others outside this band

\_;q} ) low-pass (B) high-pass (C) _band-pass (@) band-siop
. The number of kilowatts in 135 milliwatts is

35 % 10 * kW 135 % 10 ' kW 0 0135 kW ©) 0,00135 kW
=i ) © B el Ca

al causes the depletion region? { vl
(A) doping Mﬂm (C) bamerpotential (D) ions
m “P” type matenal, minonty camers would be
" holes (B) dopanis (C) slower A)—eTectrons
- olid state devices were first manutactured during
5 (A)  World WanL,_\ (BY" 1904 {C) 1924 D) 195%
83 atis the voltage acrdss R1 if he P-N junction i1s made of silicon?
b 0e 7
-0 P
d W
— 2V R121 kOhm

(A) 12V B 17V \_ccy/nw ©) ov

~b
‘ﬁgyScanned by CamScanner
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%i‘m of the following cannot actually move?

(A) majority carriers (B) holes (Db/mns @) free electrons
The primary winding of a power transformer should always be *
(A)  shorted B) open C) switched ©) fused
Which is not an analog-to-digital (ADC) conversion error?
differential nonlinearity (B) missing code /

incorrect code ©) offset ')/"
8 many flip-flops are required to make a MOD-32 binary counter?

(A) 3 &/ 5 C) 6 @) 45
~What is the difference belween combinational logic and sequential logic?

‘yﬁomhinatmnal circuits are not triggered by timing pulses, sequential circuits are inggered by iming
pulses.

(B) Combinational and sequential circuils are both tnggered by liming pulses
(C) Neither circuit is tnggered by timing pulses
(D) Thereis nodifference
MD counteris & ......................
(A) binary counler (B) full-modulus counter
decade counter () divide-by-10 counter
&Q/A/single transistor can be used 1o build which of the following digital logic gates?

A) AND (8) NAND € OR \OLAOT

\o""wr
f>wf
13‘;‘“‘” |'}qf'|
8 o 2 3XI0 S o
ke T e
g, S0 fl;;
Y -3 “
/: ~ 1@(‘7\\0 w) 09
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PART -
SPECIALISATION
. Max. Marks 20

el )
_A&unilm VxHis:
A A ®) Am © Am M"

N a Y-connected circuit, the magnitude of each line current is -

(A)  one-third the phase current (B) three times the corresponding phase current
J9 equaitothe corresponding phase curemt @)  zero

_3~Wnich bus is bidirectional ?

datla bus (B) control bus (C) address bus (D) multiplexed bus
"4 The software used 1o drive microprocessor-based systems is called - 3
PRI (B) BASIC interpretef instructions
’ o mbly language programs @) flowchar insiructions

L}/ﬁ‘l @ A-connected generator, all of the phase voltages are -

(A) zero B ual in magnitude
j} one-third of tolal %-SIHH of total
6

5
How many buses are connected as part of the 8085 microprocessor ? ‘3‘\\
(A) 2 ® 3 € 5 )/ '8

” How many bits are used in the address bus ?

w 7 ® 8 © 9 m

- Which of the following is not an enhancement to the Pentium that was unavailable in the 8086/8088

L |
9 ) “Pipelined” architecture (B) Expansion of cache memory 'LB*' \Y,
(C) _Jnclusion of an internal math Coprocessor (D) Data/address line multiplexing ‘6

9. BMA is particularly suited for datatransfer between the

(A) diskdnve and CPU (B) disk dnve and RAM
(C) disk drive and ROM ) _Adisk dnve and I/1Q
Nnmh is not-partof the execution unit (EU) ?
m ) Clock B) Anthmetic logic unit (ALW)
~——  (C) General registers ©) Flags
Mzu-bn address bus can locate
Cm‘/; .048 576 locations B) 2,097,152 locations
(C) 4,194,304 locations {©) 8,388,608 locations
Mhasor represents :
(A) the width of a quantity \__cm/lhe magnitude and a quantity direction
C) the phase angle [©) the magnitude of a quantity
17 Whalt is occurring when two or more sources of data attempt 1o use the same bus ?
~ us interruption (B) Direct memory access R
(C)\/Bus contention © PPl X
\
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v/‘:d'l of the following is not an arithmelic instruction ?

(A) INC (increment) ~* l
%’}1 DEC (decrement) "~ @® sgoi¥é 71
Which of the following is not a computer functional black ? soLio ﬂbl
rnmo-dloﬂalmaﬂm (8) Central-processing unit 8053 9% 7
(C) Input/output ports ©) Memory B0Y 6 ¢
I_Vﬂm Penlium microprocessor has adatabusof ... ... 0388 5«
(A)_ 128 bits -n/u bits C) 32bits ©) 16bits
ow long 15 an IPv6 address ? G ?
(A)_ 32buts (B) 64 bits Ly 128bits ¥ (o) LBE,EYI_EJ <
! ich protocol does DHCP use al the Transport layer ?
A) P ® uDP LfC}.TCP D) VARR
19 What is a stub network ?
(A) A network with more than one exit point ’\
(B) A network with more than one exit and enlry point
(C) A network with only one entry and no exit point
(D) A network that has only one entry and exil point.
2V and anAC

20 A PMMC voltmeler is connected across a series combinalion of'a DC vollage source V1 =
voltage source V2 (1) = 3sin (41) V. The meter reads

@y{v ® SV © 2#3/2av O T2V

21\ The 8085 assembly language instruction that stores.the content of H and L registers into the

ocations 2050H and 2051H respectively 1S,
(A) SPHL 2050H (B) SPHL 2051H (C) SHLD 2050H ) STAX2050H QH) + tur
1+ 5tK-!

K(1-5)
22 /A unity feedback system, having an open loop gain G(s)H(s) = —5, . .becomes stable when
/, Y P9 ) 1+s ({41 +¢

A K> ® K>1 Y ‘ﬁy/ﬁ3c1 O K <-1 s=-(
4~ Y
o . 5-6 Y
ﬁ‘f—_ _ﬂ‘ X \G" l (UD vl T:s_.__ ]
AR = R

=11 "ihen the top row of R 'is

R‘l\ 2 |
A (56 4 meﬁg-a 1) © 2 0 -1 O 2 -1 1)

memory

a

ZWacllcaI current source is usually represented by (L3
(A) . A resistance in series with an ideal current source t, b
!-lBj/ A resistance in parallel with an ideal curent source 1% g,

(C) Aresistancein parallel with an ideal voltage source
None of the above
- (X i
Z}qhai does a VLAN do ? i ad
) Acts as the fastest port to all servers 'T::QJ )
(B) Provides multiple collision domains on one switch pont g 3
(C) Breaks up broadcast demains in a layer 2 switch internetwork
(D) Provides multiple broadcast domains within a single collision domain
LS

rirr?__t.—, 2430 'S&Qﬁﬂ;éd by(%mdﬁ?'ner
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w modulation normatly used with the digital data 1
PSK
W ®) AM C) SSB N
2
ich of the foliowing logic families has the highest maximum clock frequency

HCMOS
W sm ® ASTIL (aalt &

28. In context of C programming, Whal is (void”) 0 ?
-& (A) Representation of NULL ponter (B) Representation ol void pointer

27

D)c’ Efror ) None of these
The operator used 1o get value al address siored in a pointer vanable IS

W . d‘ & ) &8 o |
ever a lotem-pole TTL output goes from LOW to HIGH. a high-amplitude current spike 15 drawn from
the V_ supply How is this effect corrected 10 a digital circut ?

(A) By connecting a radio-frequency capacitor from V_ to ground
(B) By using a swilching power supply

\
bor 1O -
(C) By connecting a capacitor fromto V_, 10 ground =
y connecing a large resistor from V_to V_, wf/:—i
3 many thmes "“BSNL TTA" gets printed ?
include<stdio.h>
inl main( )

{
int x; 'i""\
for (x=-1 x< =10, x ++)
{
if (x < 5)
continu A)
else i’
break;
printf ("BSNLTTA™).
}

retumn O;

} v

(A) Infinite times B) 11times Wes ©) 10times

Which of the following 1s nol logical operator ?

) & ® sa © 1 o
% Which of the following are unary operators in C ?
1 ! 2 Size of 3 ~ 4 X5
A 1,2 * ® 1.3 ©C 24 © 123
\%ﬂ will you print\n on the screen ?
..15"7 pantf(\n"); (B) echo “Wn" (C)

prntf(\n’), ~{9\/\pnnlf[“\\n'“}_

M converts a physical vanable to an electrical varnable
(B) converts analog data to meaningful data
(C) controls a physical variable

D) stores digital data and then processes that data according to a sel of

_35/; Iransducer is a device that

specified instructions
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. Declare the following statement ?
“An array of three poinlers {o chars”.
W Achar'pirdj0. (@) char*pir3); ) charCotq3D0; @) char ~pir(3),
The purpose of the Cassegrain feed in a parabolic reflecior antennas 1o -

Achieve higher antenna gain
Reduce the antenna size
) Reduce the beamwidih

©) Ease of locating the feed at the convenient point along with the associated wavegQuides and front end
electronics A L
(1% ;mlutinn eITor in an analog-to-digital converter can be reduced by * "*E:IE-’

(A) decreasing the number of bits in the counter and increasing the number of bits in the DAC
{8) _increasing the number of bits in the counter and decreasing the number of bits in the DAC

Increasing the number of bits in the counter and DAC. 1"""’?
decreasing the number of bits in the counter and DAC. YA 1.2
- -
Hﬂuﬂ does the foliowing declaration signify ? f\ﬁL = v,
i 'fo; {MU e %‘ r
(A) fisapointer variable of function type. (B) (is alunclion retuming pointer to an int ¥ i
{C) [fis afunction pointer (D) fisasimple declaration of pointer variable
The process by which a compuler acquires digitized analog data is referredtoas ... ... .
(A monotonicity Br"data acquisition
{C) analog resolution D). systematic digilal conversion
LIS are (he mos! linear of all the temperature transducers
{A) Thermistors (B).__Thermocouples
(€) ICtemperature sensors L)~ Resistance temperature detectors
42. AnAM demodulator can be impiemented wilh a linear multiplier followed bya . . . filter
(B) high-pass {(C) band-pass {O) band-stop
“The intermediate frequency in' a standard AM receiver is a 5
(A) 455Hz \43)/4'55 kHz C) 455MHz D) None of these ~16d
44_WTat does VCO stand for.? /4’{
(A) Visually-Controlled Organization (B) Voltage-Centered Oscilloscope 'QJT
Voltage-Controlled Oscillator (D) Voltage-controlied Oscilloscope é

45._M a DC machine if P.is the number of poles, N is ihe armature speed in rpm, then the frequency of the
magnetic reversal will be :

(A) PN/180 ® PNA20 I;m O Pnao TN

48~ in 8 communication system. noise is most likely to affect the signal -

0
(A) atthetransmitter (B) intheinformation source ¢N
(C) atthe destination Dnthe channel P/;
L g8l
Traffic in telecommunications systems is specified in terms of 6 h ﬁr’
Average waiting time (B) Peak waiting time
Erdangs rade of service

Wmﬁal FM broadcasting, the maximum frequency deviation is normally

(A) S5kHz B) 15kHz I%ﬂS kHz \-{D}/!DU kHz

B8 TELYNI—1A
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(A) aMmplfier ®) ftriode (C) transistor \-—ﬁf di
M '“lhﬁ-'lﬂ-dinilll converter has a four-bit output. How many analog values can it re "

i! 6 ® © % ) 00825
Mﬂh of the Inllomng Characterizes an analog quanlity ? [@ (4]

(A)  Discrete levels represan changes in a quanlity ™ o Lg

®)  Its values foliow a logarithmic curve.

€) ltcanbe de;mbad with a finite number of sieps )

{E}/l has a continuoys set of values over a given range y
‘5}%3! '$ the purpose of a Sample-and-hold circuit ?

B _ Tokeep temporary memory

tage constant so a DAC has time to produce an output
© To hold data after g Muliplexer has selected an output

Which statemeni(s) about IPv6 addresses are frue ?

{P) Leading zeros are required
Q) Two colons (-

®)  Two colons (.
(S) Asingle interf

) are used to represent Successive haxadecimal fields of zeros
) are used to separate fields

ace wll have multiple IPv6 addresses of different types

A) PandR ®) Qands € P.RandS D) Allofthese
‘%! syslem s defined by the following mathematical relationship
d'x

L - (:.«st_.f 5) (DX 6p+S)X = 12
sl dl

The response of the system as1 ».

A) x=86 By x=2 x=24 O) x=-2
3% The following program is wnitten for an 8085 microprocessor lo add two bytes located at memaory address
1 H) 1FFE iy 7T
MOV B. M . o ) t
INR L q e t (‘Le
MOV A M
ADD B A 12 ED'I.. 2 :
— oy
MOV M, A O16D1
XOR A

On completion of execution of the program. the result of addition is found -

(A} inthe register A (B)

al the memory address 1000
(C) atihe memaory address 1FQQ D)

at the memory address 2000
‘SG/AT;umpuier program thal converts assembly language 1o machine language is

) Compiler y/hssemb!er (C) Interpreter (D) Comparator
¥ Which access method 1s used for obtaining a record from a casselle lape ?
hd E : (A) Sequential ,_(B/Harﬂom {C) Direct D) All of these
-dgmn TELY13—28 { .
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ﬁq& a temperalure control system, what represents the outpul of the system ? wf

{A) The actual lemperature achieved {B) The heat produced by the system
The required temperature ) The healing elemen!
Which type of error detection uses binary division 7
(A) Party (B) Longitudinal redundancy checking
{C) Checksum checking va" Cyclic redundancy checking
ﬁ:-/ .............. .... 15 @ lechmique which transforms an analogue telephone circuil into a digital signal, and
involves three conseculive processes : sampling, quantization and encoding
Amplitude Modulation (AM) @) Frequency Modulation (FM)
27" Pulse Code Modulation (PCM) [©) Phasé Modulation (PM)

62 ) Rather than sending the absolute value of each sample itis possible to achieve a smaller transmission bit-
@ by sending the difference between consecutive samples. This is known am e

(A) dea-sigma modulation (B) delta modulation l\ e
(C) adaptive deita modulation ©) differential PCM —
The eleciron beam in the cathode ray tube (CRT) inside the TV sel is made 1o scan the whole visible
rface of the screen in a zigzag pattern’ This is known as ; -
—" L™
(A) picture line (B). frame (C) raster (D) broadcast

of the compression lechniques in communication uses the fact that in mosl pictures, there is
considerable correlation between neighbouring areas that is high degree of redunaancy in the data to

compress. This type of compression is known as LRL

(A) temporal compression (B) dynamic compression
C) CoOmpression (@) spatial compression

6s error represenied by the difference between the original and quantized signals set a fundamental
limitation lo the performane of PCM systems known as . S

{A) dynamic range (B8) detection error yQuantizalnnn noise (D) comeclion error
wnat,F_Tj SMTP, DNS, HTTP are examples of protocols that are used in ...
.4‘( application layer of OS| reference layer (B) presentation layer of OS| reference layer

(C) , session layer of OS| reference layer (D) datalink layer of OSI reference layer
8 a perniodic signal v (1) = 30 sin 100t + 10 cos 300 + 6 sin (500t + n/4), the fundamental frequency in
rad/s is :
(&) 300 B8 100 C) 500
an ALY e Wy ~ | o0 o0 4
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3T the generation of modulated signal, a varacter diode can be used for
W) AMgeneration (B) PM generation only
£ FM generstion oy © Aol these

"3 2 fule of thumb the width of the waveguide needs 1o be of the .

) same order of magnitude as the frequency of the guided wave ‘:."20* N
LJ/ ®) same order of magnitude as the wavelength of the quided wave m
——— ) very sman magnitude

Samg magnitude as the breadth of the waveguide

“"Range of the Voitage Standing Wave Ratio (VSWR) is

ﬁ:)-uhtu-umor_ :
EW power {B) impedance (C) (requency WM

A Oto? B 110 o € Otox ) -~ 1inF)
. Angsirom can be related to -
Energy ®) Speed ) Distance (©) Intensity

T3_A transmission line of characieristic impedance 50 (1 is terminated by a-50 Q2 load. When exciled by a
sinusoidal € source at 10 GHz, the phase difference between two points spaced 2mm apari on the
line is (9Gnd to be x /4 radians. The phase velocity of the wave along the line is

08=10"m/s ® 1.2x10m/s ) 18%10"m/s Ix10"m/s

CE..
(ﬁ modes in & rectangular waveguide are denoted by ™, where m and n are the eigen numbers along

the larger and smaller dimensions of the waveguide respectively. Which one of the following stalemenis is
true ?

The TM,, mode of the wave does not exist L~ LY )

() The TE,, mode of the wave does not exist /\
€) The TM,, and the TE,, modes both exist and have the same cut-off frequencies ~ )(\
(@) The TM,, and the TM,, modes both exist and have the same cul-off frequencies ;L

75 root locus piot for.a system is. given below. The open loop transfer funclion corres ponding to this piot is
given by - )

"

s(s+1)

H =L 7

A) G(s)H(s) 542 (+3)
(s+1)

GEHE=k 51
® COR e ey

1
G(S)H(S) =k — —— —
© (S)H () 5(s-1)(s+2)(s+3)

(s +1)
G)H(s)=k ——8M—
_9/{:} ) 5(5+2)(s+13)

he primary reason for the widespread use of Silicon in semiconductor device technology is .

(A) abundance of Silicon on the surface of the Earth
B) rger bandgap of Silicon in comparison to Germanium

favourable properties of Silicon-dioxide (50) @ 3 'I)

©) lower meiting point
3(st2) (513)
buww 3 [ﬁpmpﬁ]dqby CamScanner
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The power in the signal S (1) !ms[ansf-z]umusm., q
n a2

B) 42 ) 41 l'pi/;n
ﬂlﬂl the presence of negative feedback, con
)

trol systems still have plvbﬁu of instability because
components used have non-lineantwes

B) dynamic equalions of Ihe Subsystems are nol known exact!

. y
) mathematical analysis involyes approximalions

©) system has large negative phase angle at high frequencies

w circles are drawn in a Smith Chart used for Iransmission ine calculations The circles shown in igure
present

SL‘\' S

'8
W 3
Vps W < 3x10”

P
o\ v Jne
z.:r;jr ¥ réqﬂ Ho¥
b
fail

st é
RSTS
(A) unil circles Mnslant resistance circles f“l’ab
(C) constant reactance circles (D). constani reflection coethicient circles

80 LA dewvice with input x(1) and output y(t) is charactenised by y(1) = x i
deviation of 90 kHz ang maodulaling signal bandwidth of

) An FM signal with frequency

S kHz is applied 1o this device  The bandwidth of the
output signal is uwy, E}i )c‘l'l-)
M‘m kHz (B) 190 kHz {C) 380 kHz D) 95kHz ) n
1N a microprocessor,

the service routine for a certain interrupl starts from a fixed location of memaory which
set, bul the inteérrupt can be delayed or rejected Such an interrupt 15

(A) n-maskable and non-veciored (B) maskable and non-vectored ﬂ‘ t‘g‘(}_ﬂ ‘c t
Mnﬁmaskable and vactored ) @astabm and veclored

az/cades consisting ol ight anddark marks which oph e ﬁ's i”‘z'

may be optically read 1s known as

cannol be externally

(A) Mnemonics (B) Decoder Mar code D) Allof these
b nfc
QL stands for
/ Structured Query Language (B  Sequental Query Language E’ “ h B
(C) Structured Question Language ©) Sequential Question Language
84 JVhere does a computer add and compare data ? ﬂ& - ﬁ
Hard disk (B) CPUchip (C) Memory chip D RW-Disc EE ” )
An Enterprise Resource Planning application is an example of a(n) —
single-user database application (B) multiuser database apphcation ‘5& '_? n 6
(C) e-commerce database applicalion {©) data mining database apphication ,:_'
%lch of the following cannot be used for amphification of microwave energy
(A) Traveling Wave Tube ¢ ﬁ.}/Magnelmn vE)
R Kl w 'f
() Reflex Kiystron Gunn Diode o Bw. 2 (ﬁ'f 'D‘_m

P‘ﬁml %t-zLy . 4(*0) Wi
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'jJ.’(he Routh criterion tells us the number of roots lying :

(A) onthe origin of the s-plane (B) inthe left half of the s-plane
n the right half of the s-plane ©) none of these

88, Which disk interface standard includes suppori for up to eight peripheral devices ?
) ST50G/412 B) IDE () EsDI @) Sscsi

89. In the context of databases, which of the following is a group of one or /more attributes that uniquei
identifies a row ?

(A)- Key (B) Tuple (C) Determinant @) Reiation
An 8085 microprocessor based system uses a 4k x 8-bit RAM whose starting address is AAOO Hex. Th

address of the last byte in this RAM is :
(A) OFFFH (B) 1000H CL~B9FF H (D) BAOOH

qKX?

2t B
Tl
A

Q)\\,f
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